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Medicinal and Aromatic Plants could contribute immensely to the National Health and W'ealth.
Critically analyse its role on impacting rural livelihood and empowering women involved in the
same.
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6) There are different types of aromatic plants which can be used as medicinal plants as well. Discuss
their various types with examples?
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A) What is organic farming? Explain why the use of organic farming should be encouraged in India.

Approach
= Introduction. What is organic farming?
= Body:
o Discuss the need of encouraging the use of organic farming in India.
= Conclusion. Conclude Accordingly.




£, ’0108}’, an advanced technology is gaining attention for futuristic solutions

lems. Describe its scope and usage for providing solution for the problems
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2) What do you understand by Nano Technology? Explain in what ways Nano Technology
can aid in socio-economic growth of the country with its challenges.
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The I\{aﬁgnal strategy for robotics aims to position India as a global leader in robotics to
actualize its transformative potential. Elaborate the main focus areas for robotic automation
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4) Robotics finds applications in various fields, and its versatility allows it to be used in
numerous industries. Comment. Also, discuss the challenges associated with robotic
ecosystem in India?

Approach
= Introduction: Contextual Introduction
= Body:
o Comment on the applications of robotics.
o Discuss the challenges associated with robotics ecosystem in India.

= Conclusion: Conclude through measures to address the challenges.
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3) There are increasing concerns regarding the food adultery and food poisoning in recent
times. In this regard throw light on the food safety standards that are there in India and

discuss challenges in its implementation.
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10. (B) Frequent recurrence of endemics/pandemics are causing critical health issues. Covid-19
outbreak recently has caused millions of human deaths world wide. Discuss the vaccine

production and immunization program in Indian perspective.
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1) Vaccines have become a very important component in fight against various diseases.
What are the different types of vaccine? Also, discuss various steps involved in clinical

development of a new vaccine.
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gh in various research areas in solving health issues.
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4) Examine the applications of genetic engineering which contributes to advancements in
healthcare. Discuss the associated ethical, social, and safety concerns associated with it?

Approach
= Introduction: Contextual Introduction.
= Body:
o Explain applications of genetic engineering in medicine.
o Mention the ethical, social and safety concerns.
o Measures to optimize the benefits.

= Conclusion: Conclude Accordingly
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7) Explain about the key findings of Global Malaria Report, 2023 and the measures to be

taken to eliminate malaria?

Approach
= Introduction: Introduce about malaria

= Body:
o Explain about the key findings of the Global Malaria Report, 2023

o Write about the measures to be taken to eliminate malaria.

= Conclusion: Conclude Accordingly
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ISRO has planned to launch its first unmanned space Mise
goal/objectives and benefits as a result of this mission 10n named “Gaganyaan”. Elaborate its

HESAIrS O30T SrSSELS ©080E WESH (S@e

A
(goal/objectives) 5005 & S 50 SOA (Bee ODOSH ISRO 255808, 3 oEso/ogren

TOH D86osos,

Gaganyaan mission
The Gaganyaan mission is India’s first human spaceflight program, undertaken by the Indian
Space Research Organisation (ISRO). This ambitious mission aims to demonstrate India’s

capability to send humans to space and ensure their safe return.

Launch Details:
¢ Planned Launch Date: Expected in 2024/2025

e Launch Vehicle: GSLV Mk IIl (Geosynchronous Satellite Launch Vehicle Mark 111), also

known as LVM-3
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Food Laws

e Food Safety and Standards Act, 2006:
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Data Interpretation same model questions

Afnﬂ}ong I", QR,S,Tand U, Fhree_are males and rest are females. P is father of R and only sibling
of T. Q is mother of S and sister-in-law of P. Only one of P and T has one daughter and one son.

Uis f ; :
hals, ?one of these two children. If gender of U is female, then how many grandsons the father of P
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12) There are six persons A. B, C, D, E and E C is the sister of F. B is the brother of E’s
husband. D is the father of A and grandfather of F. There are two fathers, three brothers
and a mother in the group. Who is the mother?
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Note : Using following data answer the questions 28 and 29.

The following table gives the information about the population and literacy percentage for different

cities.

Population
(in lakhs)

~Percentage of
* ° male

Percentage of
Literacy among
female

Percentage of
illiterate

population
45%
40%
42%
60%
55%

.population
60%
55%
45%
35%
25%
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600
800
500
400 -
240

8) A team of 5 players Ashwin, Rahul, Sachin, Virat and Rohit participated in a tournament
and played four matches.

The following table gives partial information about their individual scores and the total
runs scored by the team in each match. Each column has two values missing. These are
the runs scored by the two lowest scorers in that match. None of the two missing values
is more than 10% of the total runs scored in that match.

Match 4
53
52

Match 2 Match 3
100

65

Runs Scored | Match 1

Ashwin
Rahul
Sachin
Virat
Rohit
Total

88

72 75 56

60

A person P bought vegetables and fruits whose cost prices per kg are in the ratio 1: 3. P sold 50§

of vegetables and 25 kg of fruits to another person Q thereby getting a profit of 20% on vegetable
and 40% on fruits. Q observed that 20 kg of vegetables and 10 kg of fruits are rotten. He discardeg
those rotten items and sold the remaining entire lot of vegetables and fruits at a rate of Rs. 440 per

o 1 o,
kg and thereby he got a profit of 335 % . What is the cost price per kg of fruits for P ?
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6) A farmer buys 240 cows. He sells some of them at a gain of 20% and the remaining at
a gain of 30%. If he gains 28% on the whole, then how many did he sell at a gain of 20%?

Mr. V travels 2400 km per month on his car and the car gives a mileage of 18 km per litre. The
petrol prices shoot up by 8%. If the price of petrol before the hike in price is Rs. 112 per litre, find
by how many kms (approximately) Mr. V need to reduce his travel so as to have the same
expenditure before and after the hike in petrol ?

Mr. V. 30% 082 59 D 2400 8.8, (Sarddd. 28 H08 s o 58 18 8.5, Hordiinos.
DPen BB 8% BOMPOW. &8 BEIHBLH $wotd DB Een &8 v 112 ev. Ben &b
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3) A friend is spotted by Kiran at a distance of 200 m. When Kiran starts to approach him,
the friend also starts moving in the same direction as Kiran. If the speed of his friend is
15 km/h, and that of Kiran is 20 km/h, then how far will the friend have to walk before
Kiran meets him?
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Five persons P, Q, R g
p » G R, S and
e T sat around table such that al] are facin

Y opposite to T. R .
P and to the left of T, then fi;:gd T are neighbours of Q. If there is

g the centre of the table. P is
only one person to the right of

starting from R. the possible order in which they sat in anticlockwise direction
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B)P,Q,R, S, T,U,Vand W are sitting round the circle and are facing the Centre:

P is second to the right of T who is the neighbor of Rand V.
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S is not the neighbor of P.

V is the neighbor of U.

Q is not between S and W. W is not between U and S.
Then, who is sitting opposite to U?

Explanation:

From the given information, the sitting arrangement can be
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15) Directions (A-E): Given pie chart shows percentage distribution of watches
manufactured by a company in 2018. Study the graph carefully & answer the questions.

Total watches manufactured = 1000
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Breakup of Expenses
© DFFBID
Food Entertainment  Clothing

e83°50 7

Abhignan
SIS
Directions (11-15): Study the bar chart given below and answer the following questions. Bar chart

shows the total votes (in ‘000] in 5 different cities (A, B, G, D & E) and percentage of valid votes out
of total votes in these 5 cities.

B Total votes B % of valid votes
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Imports Data in 500 multiples
D500 VSTTS0 (500 foe3are?d)

Tea

2018 2019 202b 2021 2022 2023
Year
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Kelkata Ahmedabad Surat Delhi Maohal

—#—Creta Honda city Innova




. 30. If Abhinav’s expenditure on rent is Rs. 10,000, Anurag’s expenditure on food is Rs. 8,000. What is
: / thrice the difference between entertainment expenditure of Abhinav and Anurag ?

655 63 9y &r. 10,000 e, KHTAD eFEop P&y &r. 8,000 e owd, ©d3§,
o5 RoH B0 P FhoH Lurd Béy o ?

The clothing expenses of Abhilash and Abhignan are in the ratio 4 : 7. If the expenditure of
_Abhilash on transport is Rs. 12,000, what is the expenditure of Abhignan on rent ?

20D ©Hrl Hdw vipSe piHe PG 4:7. ST oderl GwE) P8y &r. 12,000
oS, o3 ©PapS @) &) o ?

28) Ratio of the number of boys and girls in the class is 11:14. If 8 boys and 4 girls joined the class,
then the ratio of the boys and girls becomes 15:16. Find the percentage increase in the strength of

the class?
Explanation:

Total strength = 11x + 14x = 25x




